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ń
ı
ki

n
et

ic
ký
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čn

é
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ř́ı

p
ad

q
=

∑ α

(q
α

+
5 2
p α

w
α

+
1 2
ρ

m
α
w

2 α
w

α
).

(8
.2

2)

8
.2

R
o
v
n
ic

e
k
o
n
ti

n
u
it
y

R
ov

n
ic

i
ko

nt
in

u
it
y

p
ro

je
d
n
ot

liv
é
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čl

en
nu

la
.

∑ α

ρ
m

α
[∂

u
α

∂
t

+
(u

α
·∇

)u
α
]
=

ρ
E

+
J
×

B
+

ρ
m
g
−
∇
·P

+
(8

.2
7)

+
∑ α

∇
·(

ρ
m

α
w

α
w

α
)
−

∑ α

u
α
S

α

Č
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vé

st
ra

n
ě
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ě.

D
os

tá
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čl
en

M
α

su
m

ov
an

ý
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śı
lu

a
śı
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ře
d
ń
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čn
ým

i)

•č
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ćı

m
se

ce
lk

ov
ou

st
ře
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ů
že

m
e

p
sá
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ě

ja
ko

u

tr
an

sp
or

tń
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ń
ı
e
l.

n
á
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oč

át
eč
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té

ho
čl
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ý

čl
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ń
ı
ce

lé
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ý

tv
ar

té
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źı
sk

at
p
ro

p
ln

ě
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ži
t́ı

n
ás

le
d
u
j́ı
ćı
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ýc

h
si

tu
ać
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tá
vá
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